Milestone Computation Review #1				Name:____________________
1. (−1) – 10=____________

2. [bookmark: _GoBack]48 − (−31)=_____________


3. The money used in Jordan is called the Dinar. The exchange rate is $3 to 2 Dinars.  Find how many dollars you would receive if you exchanged 22 Dinars.

_____________

x _________________





n


x 


(v)=_____________


        9.  −20 (8x + 20)=____________


       10.  You are asked to go to the store and buy a bottle of BBQ sauce.  Your Aunt has told you to get the better value. The smaller bottle is $2.69 for 11 ounces. The larger bottle $4.22 for 26 ounces.  Which is the better buy?

___________________

      11.  30 = −5(6n + 6)

___________________
